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1. For which function does f(x) > —o0 as x > and f(x) > as x > —0?

(1) f(:t)zx'q’—4x2+x (3) flx)=2x*-2x"+x-5 \/\ Odd =

ﬂ’f{x)=—4x3+7x2—x+l (4) flx)=—-x*+2"-5x+3
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2. The zeroes of the function x* —13x” -}386 Ule 3(-—{3}8"’36:0

) 23) iy (=94 ) =0

(2) {-2,-3) (4) {+2i, +3i) @*-3)[“’;\{)«—1\ 0

A%ﬁ) AT

&—3 1= X=3

3. The expression &3:5_—%_& is equwalent t(\Q e 54 EL—LS
.}B/x+8+xf3 x+8 J JK ¥S%-a0
(2) x+8——2 ) BB X*3X
x—3 x—3 %K—go
tgx1Y
C.[
4. The graph to the right shows a polynomial function y = g(x). y
Which statement is true? E\\ |
(1) The leading coefficient of ¢ is positive :- ra \,\2“
(2) The remainder when q(x)+(x—3) is negatx %(2,‘) E“-\} jff I 1- {
13y The graph of g is decreasing for -1 <x <1, }a\_ 3 '5 1 _1_'\\
(4) q is a fourth-degree polynomial. 5~z 3¢ \_/ ol YA
X4 15 4 ‘?RQL‘)’— )

5. For a polynomial function g(x), it is known that g(—4) =0. Which statement is true?

(1) The remainder when g is divided by x — 4 is zero. XA )<
(2) The binomial x — 4 is a factor of g. X

37 A zero of the graph of g is 4.

(4) The graph of g has an x-intercept at x = 4.
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6. Which factorization is incorrect? V\L S‘b& 5]_%'[%6 l;C £ 3
L2lwto gihs (a¥)a* c.hr‘{"') @_a-a»]{c-b

(1) 3w®-19w+6=(3w-1)(w—-6) ..-\Qu., A h 152 (h *a

(2) h* +8=(h+2)(h®>-2h+4) QJ';!.gwa.‘) l ' (q ” )Lq llp
¥ ¢ =12c+36=(c+6)(c-6) X i > % _113 =(qHly{[-
,(A'(E‘il~121y2 =(9—7y)(9+7y)x (W‘(D?ﬂ« —l) X

7. Determine the value of k for the polynomial p(x) = 2x” +3x* + kx — 30 if p has a factor of x+2.
0 =2 () *KR) -30 A Sq en
0 =~lp Ha-2230 E20)

O = —ar-34
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Determine all of the zeroes of p(x). Q)(_ X._.lg Cﬂ;{@] 5‘) O
XJF%J’x BCHE0 () («x-20) =0
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8. Prove that (a+b*)*> —(a—b*)* = 4ab? for all real numbers a and b. K= - 4
Avtribde the Ngatie

(@*daka67)E (=abh") =Hab®

ARab b =
Hah™=qgh*

9. Factor completely: C_ 8x® +151¢ 2% +16x'— 30)
XX % 3 " 2
S REGXHS) -2 O*-5x+1 5]
(X=2)(x*5XH )
() (k5 X 3)



